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4 Eﬁﬁ}g (phoneme isolation)

G RERIAEAT AT, FEA LRI A g
g, RAEN, FERE.

W) What is the first sound in "bus” ? ( 3 bus #9 % & 2 4 49 )
The first sound in “bus” is /b/. ( #-14] bus #9 & F =& /b/, )

& S=Z= 107l (phoneme identity)

CED EF AR R 6 9 b ar sl i An R 6 57,

2401 =5 Which sound is the same in "pin”, “pat” and “pig” ? ( £33
pin, pat, pig THANFEAR? )
€ 5 The first sound /p/ is the same. ( %% /p/ 48R, )

& S=IJZE (phoneme categorization)

FF R 3 ~ 4 D38 P Kk R E) £ g ARA

240245 =5 Which word doesn’t belong? Fan, fish, sun. ( 33 fan,
fish, sun PHR—/ KRB Fix 7 )

€257 Sun does not belong. It doesn’t begin with /f/. ( %4 sun & F
AN, CERREAM FL, )

¥ BSEHS (phoneme blending)

Cﬁbﬁ%%%a%#ﬂ*ﬁ%&%ﬁﬁAﬁ~£”&&m%ﬁﬂ%

IR FK \;h;t W)ord 18 /d/ lol 1g/ ? (/d/ o/ g/ 4R &2 % 2 4+ 4
, 18] ?

m d/ fol lg/ is dog. (/d/ o/ Ig/ EARE dog, )
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¥ EEU]D (phoneme segmentation)

£ m BT fede—A 26 Lidme mENFTE

. EZIENE® How many sounds are there in “cake” ? ( #77 cake & A
Foi JANFET? )

~ EED /X /a/ /k/, three sounds. (/k/ /a/ /k/, =AF . )

¥ SEMIBER (phoneme deletion)

GO SN EFFNEANERE TS, HFRILEFEOLF

HpE S

2.0 3 Say“sun” without the /s/. ( £33 sun 2= R XA /s/, FEAT AT )
: /un/.

B RS

"2 == Say “hit" without the /t/. ( 333 hit %o R %A N/, EHZ? )

i/,

b H b

%W = = Say“frog" without the /r/. ( -‘?—15] frog %= XX A i/, EHL? )
) ffog/.

2 géf%ﬂﬂ (phoneme addition)

CUD fe—AFH R mB| A 6 38 F, LT SR — A9 87,
m What word do you have if you add /s/ to the beginning of

“mile” ? (/£ mile 6933 % Lk /s/ J& T At 4 #3797 )
Smile.
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